
Surds – The Basics
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1 Simplify the following expressions: 

1(a) 2( 5)

[1 mark]

Answer

1(b) 7 × 7

[1 mark]

Answer

1(c) ( 11 )2

[1 mark]

Answer

1(d) 8 × √2

[1 mark]

Answer

1(e) 18 × 2

[1 mark]

Answer

Turn over for next question

Turn over ►

5
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2 Write the following surds in the form a 𝑏 where a and b are integers. 

2(a) 20

[1 mark]

Answer

2(b) 45

[1 mark]

Answer

2(c) 32

[1 mark]

Answer

2(d) 24

[1 mark]

Answer

2(e) 112

[1 mark]

Answer

Turn over for next question

Turn over ►

5
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3 Simplify the following expressions: 

Give all answer in its simplest form. 

3(a) 3 2 × 3 2

[1 mark]

Answer

3(b) 50

5

[1 mark]

Answer

3(c) 2 2 2 × 3 2

[1 mark]

Answer

3(d) 2 2 × 4 5

[1 mark]

Answer

3(e) 4 24 − 5 6

[1 mark]

Answer

Turn over for next question

Turn over ►

5
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4 Simplify 48 − 12

Giving your answer in the form 𝑚 3 where 𝑚 is an integer.

[3 marks]

Answer

Turn over ►

3
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5 Expand and simplify the following expressions:

5(a) (2 − 3)(1 + 3)

[2 marks]

Answer

5(b) (1 − 5)(2 + 3)

[1 mark]

Answer

5(c)
2 + 3 3 6 + 5 3

[2 marks]

Answer

End of Questions

END

5
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